MA2, cviceni 11

1) Pomoci substituce do valcovych, sférickych nebo posunutych sférickych souradnic
vypoctéte
a) /// dedydz, Q = {(z,y,2) € R®: 22 + y? + 22 < 2z, 22 > 2% + 4},
Q
b) ///ydxdydz, Q={(r,y,2) ER3:2>0,y>0, 2>0, 2 <4— 2% -1y}
Q
¢) ///(x2+y2)dxdydz, Q={(z,y,2) e R®: 22 +y? < 22, 2 <2},
Q
d) /// dxdydz, Q = {(Ly,z) ER3:z+y+2<1, 22 +92 < }l, x>0, y>0, 220},
Q

e) /// dedydz, Q = {(z,y,2) e R?: 2 <2y, 2z > 22 +¢*},
0

0 [[[ VTP drdyds 0= {(e.0.9) € B 12 4yt 4 2 <203} a € R,
Q

2) Vypoctéte objem télesa €, je-li

Q={(z,y,2) eR*: 2 +y* <9, 0< 2 < y}.



